TB(#x) HIEA FiI# B#

BEEAE A B :20254E03 H09H (H)

H7TH :2025.3.9 17:56

ZU v N 1.0 AN T HEMES0.0 £0PE30.0 K5 @ W
RS WIREA ST U NT Ja&\ 59
i =—=2  :0UT IN ZINNE CEMEIT AN T N AEF104A
NEATRTE YL - = —AINet N T 4 HEHFEHH
BGL | N K4 OUT IN |GROSS| HDCP | NET | crosshf: % BT | BInFE K4 OUT IN |GROSS| HDCP | NET |crosshsif: e
B [/ B 46 44 90| 25.0 | 65.0 8 51— &7 46 47 93/14.0 |79.0 18
R B B2 41 47 88/20.0 |68.0 5 52| iR R 49 46 95/ 16.0 |79.0 29
3IEH] fF— 42 42 84/16.0 |68.0 2 53| AR BErE 49 46 95/ 16.0 | 79.0 29
4|1 K 44 42 86| 18.0 [68.0 3 b4 |iEEy — 5 49 44 93/14.0 | 79.0 18
5\ A B 37 45 82| 13.0 [69.0 1 55| ‘B IR K 44 51 95/ 15.0 | 80.0 29
6| 1L SERE 47 50 97(26.0 | 71.0 40 56 | fiEE A 48 55/ 103]/23.0 |80.0 69
750 H K 49 44 93/22.0 | 71.0 18 57 M & 44 49 93/ 13.0 180.0 18
8| & Fnul 43 48 91/19.0 | 72.0 11 R NS 45 49 94| 14.0 |80.0 27
9 hmE BEZ 48 51 99|27.0 | 72.0 48 59 |54 FERA 51 55| 106]26.0 | 80.0 81
100&5E & 46 46 92]120.0 |72.0 12 60| AT 5] 45 47 92| 12.0 |80.0 12
11| = 48 45 93/21.0 | 72.0 18 61 |k FT 48 50 98/ 18.0 [80.0 45
12| T8 & 43 49 92/ 19.0 |73.0 12 62| 1L fEFE 51 50, 101/21.0 | 80.0 59
13| EfE PRid 47 50 97/ 24.0 73.0 40 63 | Fadii 1EH 49 46 95| 15.0 |80.0 29
14)11H HEH%E 52 51| 103]/30.0 |73.0 69 648 K FH— 52 49| 101]21.0 |80.0 59
15| =48 i 43 49 92/ 18.0 | 74.0 12 65|k TRZ 45 51 96/ 15.0 | 81.0 37
16|l HpHi 44 49 93/19.0 | 74.0 18 66| LA FR1E 50 55| 105/24.0 |81.0 76
17/ B 43 47 90| 16.0 | 74.0 8 67 7K H 50 50/ 100/ 19.0 |81.0 54
18|k & 43 43 86| 12.0 | 74.0 3 68| HE AR EH 57 48| 105/24.0 | 81.0 76
19 Ml 725 52 49| 101]/27.0 | 74.0 59 69|78 0 BHE 49 52| 101]/19.0 |82.0 59
20| H B 52 40 92| 18.0 | 74.0 12 70| BB EiR 53 55| 108]26.0 | 82.0 93
21| FH) == 45 52 97122.0 | 75.0 40 71N Bk 48 47 95/ 13.0 | 82.0 29
22| KR Fo+ 51 50/ 101]26.0 |75.0 59 T2 K01 EF] 55 49| 104/ 22.0 |82.0 75
23| 1LiA 5 51 49| 100/25.0 | 75.0 54 T3 HAT R 53 46 99| 17.0 | 82.0 48
24 [ FK 1L FEK 51 48 99/ 24.0 | 75.0 48 T4 175K BE 56 43 99/ 17.0 |82.0 48
25| FrA Fnh 50 46 96| 21.0 | 75.0 37 75| [WAR W 47 62] 109]26.0 |83.0 95
26| 1L FEH] 41 48 89/ 13.0 | 76.0 6 76| R B 49 58| 107]/24.0 [83.0 85
27 IR 75+ 48 54| 102]26.0 | 76.0 66 TTIRE HiE 51 56/ 107/24.0 |83.0 85
28| R 5 50 56/ 106]30.0 | 76.0 81 8| 1HE B2 51 55/  106]23.0 |83.0 81
29 | Bl 44 49 93] 17.0 | 76.0 18 92T IE 48 49 97/14.0 |83.0 40
30 XA REE 50 52| 102]/26.0 | 76.0 66 80| Il X 52 53] 105/22.0 [ 83.0 76
31| FEk BEIr 46 47 93/ 17.0 |76.0 18 81| KB Ja ik 51 49! 100]17.0 [83.0 54
32| A Al 47 48 95/ 19.0 | 76.0 29 82| KE ¥ 52 48| 100]17.0 |83.0 54
33| = IRy BIAE 48 49 97121.0 [76.0 40 83| AT IER 52 47 99/ 16.0 |83.0 48
34| )11k 3=~ 51 52| 103]27.0 | 76.0 69 84| I & 54 54| 108]24.0 | 84.0 93
35 &1 BF 48 45 93] 17.0 | 76.0 18 85|pa)I| e 43 58/ 101]16.0 | 85.0 59
36/ dbis F# 48 44 92| 16.0 | 76.0 12 86 |fik FH &k 45 55| 100] 15.0 | 85.0 54
37|22 B BB 46 52 98/21.0 | 77.0 45 87|&EH ¥ 54 53| 107/22.0 |85.0 85
38|FHH &k 52 55/ 107/ 30.0 | 77.0 85 88| & 51 56/ 107/ 21.0 |86.0 85
39|57 R 51 52| 103]26.0 | 77.0 69 89| HAS = 49 58/ 107]/20.0 |87.0 85
40 )11 H #— 47 47 94| 17.0 | 77.0 27 90| EHH 7 50 55/  105|18.0 |87.0 76
41 R AT 45 44 89/ 12.0 |77.0 6 91| SE— 53 56/ 109]22.0 |87.0 95
42 | ZRb) AR 46 44 90(13.0 | 77.0 8 92VgH i+ 54 51| 105/ 18.0 |87.0 76
43| 1Lk EZ 50 48 98/21.0 | 77.0 45 93| #r AEE 49 57/ 106/ 18.0 |88.0 81
44 | VRS (ERL 57 50/ 107/30.0 | 77.0 85 94 |Bd SCiE 52 57/ 109/ 21.0 |88.0 95
45 | ;A 5K 50 51| 101]23.0 [78.0 59 95| 1A 5 49 50 99/ 11.0 | 88.0 48
46| 223 # 52 51| 103/25.0 | 78.0 69 96 |#x Bl 54 56/ 110]/21.0 |89.0 98
AT\ ==1F 49 46 95(17.0 | 78.0 29 97 | EkE 55 56/ 111/22.0 [89.0 100
48| FEA BB 51 44 95(17.0 | 78.0 29 98 |/ ks FHH 45 57/ 102/ 12.0 [90.0 66
49 9y A% — 49 54| 103/ 24.0 |79.0 69 99 |tk ALk 50 57/ 107/ 17.0 ]90.0 85
50 = i, 46 50 96| 17.0 | 79.0 37 100/ [Llg = —KE 53 57| 110/ 18.0 /92.0 98
1/ 2 galuho ) —H50



BEEAE A B :20254E03 H09H (H)

TB(#x) HIEA FiI# B#

H7TH :2025.3.9 17:56

SR 1.0 RN TEME30.0 £01430. 0 KT b

ik aReS TR NT B 58

A= —=  :0UT IN ZIMANEC  BERITAN KIETA BFEFI04A ‘

AL E 515« o —AWNet N T 4 A4EHH
Gz | & K4 ouT IN |GROSS| HDCP | NET | crossit: S NEAL | BN 4 oUT IN |GROSS| HDCP | NET |crosshsifz S

1015 )1 &7 60 62]  122[30.0 [92.0 101
102|425 FEAT 58 66| 124|24.0 [100.0 102

& EEZ BRI

EH EE =P IEHE

2/ 2

sRlUA ) =957



